&.4: (More Trigonowmetric Graphs)

The number of all vertical asymptotes of the function y = 2tan (37rx + g) ,0<x <

5 .
= is
12

A) 2
B) 5
C)4
D) 1
E) 3

Trigonometric
Graphs
(tan 9).

The graph in the adjacent figure represents part of the graph of

YA
A)y = —2tan(x — 3w /2) 54
B) y = 2cot(x — 1)
C)y = —2tan(x — /2)
D) y = 2cotx 2T
E) y = —2tanx

Trigonometric
Graphs
(tan 9).

The graph of the function y = 2tan (Zx — g) ,0 < x < m,is below the x-axis on
A (03)v(ET)
B) (5.3) v (5m)

Trigonometric
Graphs
(tan 9).




Vs

The graph of the function f(x) = —tan Gx — E)’ 0 < x < 8, is completely above

the x-axis on

(a) (0,2) U (4,6)
(b) (1,3)u (5,7)
(c) (0,3)

(d) (0,4)

(e) (24) U (6,8)

Trigonometric
Graphs
(tan 9).

The number of the x-intercepts of the function f(x) = —3tan (Zx - %) over the

interval [—m, 27] is:

A) 6
B) 5
C) 4
D) 3
E) 2

Trigonometric
Graphs
(tan Q).

If the graph of the function f(x) = atan(bx + c) has a period of % a horizontal shift

of%to the right, and f( ) = —/3,thenma + b =

7
12

A) 3
B) 57
C) —2m
D) 7
E) 2m

Trigonometric
Graphs
(tan 9).




If 27 is the period of the function f(x) = atan(bx) and f G) = —/3,thena+b =

A) -2
B) 2
C) -2
D):

7
E) -2

Trigonometric
Graphs
(tan 9).

If £(x) = atan(bx), b > 0, is a tangent function with period 3 and f(1) = 2v/3, then

r()=

A) 2
B)V3
C)1

23
D) Ty

V3
E)?

Trigonometric
Graphs
(tan Q).

The number of the x-intercepts of the graph of f(x) = 2tan (Bx — %) where —% <

3 .
x <= is
4

A) 4
B) 3
C) 1
D)5
E) 2

Trigonometric
Graphs
(tan 9).




If x =aandx = b are two consecutive asymptotes of the graph of y = %cot(Bx +

m/4),then a + b =

2

Y
~

N[ W[l »y
B
)
" ]
lye

O

D)—%

E)g

Trigonometric
Graphs
(cot@).

The equation of the adjacent graph is

| |
A) y = cot (Zx - 3;”) . ! \ \
B) y = tan (Zx +3?”) — —«I \5’:\ — \\‘—\c" -~
C)y = tan (2x + E) at 17 \ v \
(

Trigonometric
Graphs
(cot@).

The number of vertical asymptotes of the graph of the function y = 2cot (nx -

T

5),—1 <x <1,isequal to

A)5
B) 3
C) 4
D) 1
E) 2

Trigonometric
Graphs
(cot@).




The adjacent figure represents part of the graph of
T I
A) y = —2cot (Zx r E) :
_ L3 ; Trigonometric
B) y = —2cot (x + 4) Wi Graphs
B - : (cot ).
C) y = 2tan (2x + E)
D) y = —2tan(2x) 5
— T
E) y = 2tan (x + 4)
The number of x-intercepts of the graph of the function y = —3cot (Zx + g) over the
interval [—m, 7], is equal to
A) 3 Trigonometric
Graphs
B) 2 (cotB).
C)4
D)5
E)1l
If y = 2cot 2x, then the number of vertical asymptotes over the interval (—%%") IS
equal to
(a) 2 Trigonometric
Graphs
(b) 1 (cot6).
(c)3
(d) 4
()0




For — 72—" < x < 0, the number of vertical asymptotes of the graph of y = csc Gx — g)

is:

A) 1
B) 4
C)2
D) 3
E) 6

Trigonometric
Graphs
(csch).

Which one of the following statements is FALSE about the graph of y = %csc (x — g)

in the interval [—m, 27] ?

A) the graph has four vertical asymptotes

B) the graph has a period of 27

C) the graph has no x-intercept

D) the graph has one y-intercept

E) the range of the graph is (—o0, —3/2] U [3/2, )

Trigonometric
Graphs
(cscA).

The equation of the graph below is

A) y = 2sec (Zx — %)

B) y = —2csc (Zx — g)
C) y = 2csc Gx — %)

D)y= —Zsec(%x—g) 2l /\

E) y = —2csc (%x = %)

Trigonometric
Graphs
(csc@).




The graph of y = —csc(2x + m) + 2, where —%" <x< %", has

A) three x - intercepts.

B) four vertical asymptotes.
C) one y - intercept.

D) two vertical asymptotes.

E) four x - intercepts.

Trigonometric
Graphs
(csch).

The range of the graph of the function f(x) = 1 — 2cscx is
(@) (=00, =1] U [3, o)

(b) (=00, =2] U [2, )

(€) (=00, =3] U [2, )

(d) [1, )

(e) [-1,3]

Trigonometric
Graphs
(cscA).

The sum of all the vertical asymptotes of the graph of y = —csc (g — g) in the interval

[—4m, 2], is

A) —21
B) 47
C)2m
D) —m
E)m

Trigonometric
Graphs
(csc@).




The graph of the function f(x) = csc (nz—x),—z < x < 2, intersects the line y = —2 at

A) 2 points
B) 5 points
C) 1 point

D) 4 points
E) 3 points

Trigonometric
Graphs
(csch).

ForO0<x < %”, the line y = —3 intersects the graph of y = tan(2x — ) at:

A) 2 points.
B) 4 points.
C) 5 points.
D) one point.
E) 3 points.

Trigonometric
Graphs
(tan Q).

Which one of the following statements is TRUE?

A) The domain of y = sec(4x + 1) is x # Tl—" — %, where n is an integer.

B) secx = —sec(—x)

C) The graph of y = sec x intersects x-axis at x = nmr where n is an integer.
D) sec30° = ?

E)sec?x =1 —tan?x

Trigonometric
Graphs
(sec@).




The graph of the function f(x) = —2sec (nx + g) , —g <x< g is completely above

the x-axis on the interval

A ;)
B)(-53)

0 (3

D) (0.

B) (-3.5)v(Z3)

Trigonometric
Graphs
(secB).

If (a, b) is the minimum point on the graph of f(x) = —2sec an + n),3 <x<5,

thena + b =

A) 6
B) 2
C)-2
D)m
E)O

Trigonometric
Graphs
(sec@).

If the range of the function f(x) = —3sec(2x + 1) + 2 is (—oo,m] U [n, o), then

m+n=

A) 4
B) 6
C) -4
D)0
E)3

Trigonometric
Graphs
(sec@).




The graph of the function f(x) = —sec(mx), —% < x < 1 isincreasing on the interval

D) (0,1)

9 (1)

Trigonometric
Graphs
(sec@).

On the interval [—mt /4,51 /4], if the the graph of y = 2 + 3sec(2x — m) has four

vertical asymptotes at x = a4, a,, a; and a,, thena, + a, + a; + a, =

A) 2m
B) 3w
C) 5m/2
D) 5n/4
E) 9 /4

Trigonometric
Graphs
(sec@).

The range of the graph of y = 2 — 2sec(x + m) Is

A) (=,0] U [4, )
B) (=9, —2] U [2, »)
C) (=0, 1] U [2, )
D) [-2,2]

E) [0,4]

Trigonometric
Graphs
(sec@).




The given graph in the adjacent figure represents part of the graph of the function

I y
A) y = sec(x + 1) |
| I Trigonometric
B) y = csc(x + /2) | | | Graphs
C)y =csc(x —m/2) o o WL >x (sec@).
D) y = sec(x — m) : ll
E) y = sec(x — /2) |
The graph of the function f(x) = —sec (gx) over the interval [0,4], intersects the
liney =1at
A) 1 point Trigonometric
. Graphs
B) 2 points (secB).
C) 5 points
D) 3 points
E) 4 points

If P is the period of the graph of f(x) = 5sec2 (x — %) and A is the amplitude of y =

—msin (%), then A+ P =
)

Trigonometric

A) 2m Graphs
B)O (sec@).
C) 4r

D)r

E) 3w




Vs

The number of vertical asymptotes of the graph of y = csc (%x — —) over the interval

4
(02)

A) 2
B) 1
C)3
D) 4
E)5

Trigonometric
Graphs
(cscA).

The number of vertical asymptotes of the graph of the function f(x) = 2 + 3csc(2x —
m), on the interval [—m, ] is equal to

(@5

(b) 6

(c) 4

(d)3

(e) 2

Trigonometric
Graphs
(cscA).

The number of x-intercepts of the graph of y = %tan (%x — n) over the interval

(02

A) 2
B) 1
C)3
D) 4
E)5

Trigonometric
Graphs
(tan 9).




In which one of the following intervals is the graph of y = sec (2x + g) below the x-

axis?

Trigonometric
Graphs
(secB).

An equation for the given graph is

REFNE

A)y=—-1—-tan(2x —m/2)
B)y = -1 —tan(x — n/4)
C)y =—1+ cot(x/2)

D)y =1+ cot2x

E)y =1—cot(x —m/4)

— e 0 | A — ——

Trigonometric
Graphs
(cot@).

The graph of y = —csc(2x + m) + 2, where —%” <x< %" has

A) three x - intercepts.

B) four vertical asymptotes.
C) oney - intercept.

D) two vertical asymptotes.

E) four x - intercepts.

Trigonometric
Graphs
(cot ).




y = cot(g—%), thenm =

.y A\ {
¢\
A= \ ‘
; N\, ' Trigonometric
B) = . l . . Graphs
2 : m ™ .
. ; \ (cscA).
13 \
c)= | .
3
D) ”
V3
E) "
Y - T 7T\ - .
The graph of y = cot (3x + Z) over the interval (— o E) intersects the x-axis at:
A) £ and 2Z
12 12
/s T Trigonometric
B) _gandg Graphs
(cot ).

5
C) —Zand =
8 12
5 7
D) > and m
12 12

E)l—”zandg

3w 51

The number of vertical asymptotes of y = %csc (x — g) over the interval (— 7,7)

Is:

A) 3 Trigonometric
Graphs

B) 2 (csc@).

C)4

D) 1

E)5




The number of the x - intercepts of the function f(x) = —3tan (Zx - %) over the

interval [—m, 27] is:

A) 6
B) 5
C)4
D) 3
E) 2

Trigonometric
Graphs
(tan 6).

ForO0<x < % the graph of the function y = 2csc 3mx is decreasing on

Trigonometric
Graphs
(sec@).

The figure below, represents part of the graph of

.

A) y = 2sec(2mx)

B) y = 2csc(2mx)
T

C) y = 2sec (;x)

D) y = —2sec(2mx)

cmmmm a=-

E) y = —2csc (gx)

.~

—

(=1

———aa

I x

Trigonometric
Graphs
(csc@).




The equation of a tangent function with period 27 and phase shift g is

A) y = tan (%)

B) y = tan (”T"”)
C)y = tan (X_ZZ")
D) y = tan (2"4_")
E)y = tan (x_f")

Trigonometric
Graphs
(tan 6).

Over the interval [— 37” 371], the graph of y = tanz?x has

A) four vertical asymptotes

B) three vertical asymptotes
C) five x-intercepts

D) five vertical asymptotes

E) no y-intercept

Trigonometric
Graphs
(tan Q).

The graph of y = —2csc=-, —4 < x < 0, is increasing on

A) (—4,-3) U (=1, 0)

B) (—2,0)
C) (-3,-1)
D) (-3,-2)

E) (—4,-2)

Trigonometric
Graphs
(csc@).




Let f(x) =1+ csc (Zx + g) Then which one of the following statements is TRUE?

A) the graph of f has infinitely many x-intercepts
Trigonometric
B) the range of f is (—oo0, —1] U [1, ) Graphs
C) the period of f is 2m (csc).
D) the phase shift is _%

E) the graph of f has no y-intercept

If f(x) = —atanbx,a > 0,b > 0, is a function of period 3, then f G) is

A) equal to — =
b Trigonometric

B) undefined Graphs
C) equal to % tan o)
D) equal to —a

E) equal to b

The number of vertical asymptotes of y = 3 + ZCOt% over the interval [—4,4] is

A) 6 . .
Trigonometric

B) 3 Graphs

C) 2 (cot@).

D) 1

E) 4




The adjacent graph represents part of the graph of

A) y = sec9x - ' U:

3

C)y=—csc§ 3x  6x =

D)y = —csc> ;[\‘ m
E)y = 2CSC§ 1 {5

Trigonometric
Graphs
(csch).

The graph of the function y = |3sec 2?x| over the interval [0, 37”] intersects the line y =

4 at

A) 1 point
B) 2 points
C) 3 points
D) 4 points
E) no point

Trigonometric
Graphs
(secB).

The period P and the phase shift S of the function f(x) = —2sec (g - E) +5are

(8 P=2m5="

(b) P =8m, S ="

@P=4ms=§

41

(d) P =8m,5=-=

() P=—8m,S ==

Trigonometric
Graphs
(sec@).




If y = 2cot 2x, then the number of vertical asymptotes over the interval (—%,%) is

equal to

(a) 2 Trigonometric
Graphs

(b) 1 (cot6).

()3

(d) 4

()0

The number of the vertical asymptotes of the graph of y = —3cot (%x) on the interval

_3r 15_”] i
4’ 4
Trigonometric
(@)3 Graphs
(b) 2 (cot ).
(c) 4
(d)5
(e) 6
Which statement about the graph of the function f(x) = —3sec%x over the interval
[5,5] is true?
2
A) There is a minimum but no maximum for the function. Trigonometric
Graphs
B) The maximum value of the function is f (g) (secB).

C) The maximum value of the function is f (5)
D) The graph has neither a minimum not a maximum for the function.

E) The maximum value of the function is f(4)




The number of vertical asymptotes of f(x) = 2cot37x in the interval (— % Bn) is

A)5
B) 9
C)3
D) 2
E) 4

Trigonometric
Graphs
(cot@).




